
Low tolerance 

B10  

TCATG CTGTT TCATA TGATC [4] 

Total 7;   4:3 

 

 

AACUUUCAGUUUAGCGGUCU [3] 

Total 8;   3:5 

 



 

GAGATGATCGCCCCTTCTTC [2] 

Total 11;   5:6 

 

 

GATGC CGTTC TTCTG CTTGT [8]  

Total 10;   6:4 



 
AGTCC TCATC TCCCT CAAGC [1] 

Total 10;   5:5 

 

CTCCC TCAAG CAGGC CCCGC [1] 

Total 15;  6:9 

 

TGTGAAGAGC TTCACTGAGT [1] 

Total 9;  5:4 

 
GCAGATGTAG TGTTTCCACA [1] 



Total 9;  5:4 

 

 

High tolerance 

  
GGGGCCACTAGGGACAGGAT [2] 

Total 13;  7:6 

 



 

GTCCCCTCCACCCCACAGTG [2] 

Total 14;  7:7 

 

 
GGGCACGGGCAGCTTGCCGG [8] 

Total 16;  9:7 



 
GGTGGTGCAGATGAACTTCA [8] 

Total 10;  7:3 

 


